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	Reason for change:
	In the current TTCN implementation, localtree lt_ActivateCellB_StepD , the value for attenuation for Cell B  is calculated as tcv_CellInfoB.powerpCPICH+55. This results in attenuation set to -5. Now, as per ts_SetAttenuationLevel-> lt_SetAttLev-> ca_CellTxPowerModiReq-> CPHY_Cell_TxPower_Modify_REQ, the dLTxAttenuationLevel can only be in range (0..40|123).

Hence, this value of attenuation is incorrect. This needs to be corrected.

Also in the current TTCN, the instead of Cell B, Cell D is being  set at -55dB which is incorrect and needs to be changed.

However, even after changing this the power level setting of -55 doesnt get effected because the attenuation being passed is -5, and is illegal as explained above. This results in the Cell B being set to any arbitrary power (platform implementation dependent), which is not right.

To avoid this situation, it is proposed that the powerpCPICH value of Cell B should be changed in order to be able to set it at -55dB (which is what Prose requires for Step e). 

In current TTCN implementation, the Cell B is switched on at Step a. However, the Prose clearly mentions that at Step a Cell A should be activated, and at Step d, Cell B should be activated. This implies that At Step a the Cell B should be switched off. This also needs to be changed in the TTCN.

	
	

	Summary of change:
	1) In localtree lt_InitVariables, at line #40 assigned tcv_CellInfoB.powerpCPICH:= -55 

2) In localtree lt_ActiveCellsA_StepA at line #21, replaced the call to test step  ts_SS_SwitchBackCellOn ( tsc_CellB ) with [TRUE]. Please see screenshot.
3) In localtree lt_ActivateCellB_StepD called test step ts_SS_SwitchBackCellOn ( tsc_CellB ) at line #17. Please see screenshot.

	
	

	Consequences if not approved:
	TTCN is incorrect
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1.1 Tc_6_3_1_4
	Object name 
	Tc_6_3_1_4

	Reason for change
	In the current TTCN implementation, localtree lt_ActivateCellB_StepD , the value for attenuation for Cell B  is calculated as tcv_CellInfoB.powerpCPICH+55. This results in attenuation set to -5. Now, as per ts_SetAttenuationLevel-> lt_SetAttLev-> ca_CellTxPowerModiReq-> CPHY_Cell_TxPower_Modify_REQ, the dLTxAttenuationLevel can only be in range (0..40|123).

Hence, this value of attenuation is incorrect. This needs to be corrected.

Also in the current TTCN, the instead of Cell B, Cell D is being  set at -55dB which is incorrect and needs to be changed.

However, even after changing this the power level setting of -55 doesnt get effected because the attenuation being passed is -5, and is illegal as explained above. This results in the Cell B being set to any arbitrary power (platform implementation dependent), which is not right.

To avoid this situation, it is proposed that the powerpCPICH value of Cell B should be changed in order to be able to set it at -55dB (which is what Prose requires for Step e). 
In current TTCN implementation, the Cell B is switched on at Step a. However, the Prose clearly mentions that at Step a Cell A should be activated, and at Step d, Cell B should be activated. This implies that At Step a the Cell B should be switched off. This also needs to be changed in the TTCN.

	Summary of change
	1) In localtree lt_InitVariables, at line #40 assigned tcv_CellInfoB.powerpCPICH:= -55 

2) In localtree lt_ActiveCellsA_StepA at line #21, replaced the call to test step  ts_SS_SwitchBackCellOn ( tsc_CellB ) with [TRUE]. Please see screenshot.
3) In localtree lt_ActivateCellB_StepD called test step ts_SS_SwitchBackCellOn ( tsc_CellB ) at line #17. Please see screenshot.
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After change: 
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